
Answer on Question #77600 – Math – Algebra 

Question 

 

1. The geometric series has a first term of 8 and the limiting sum of 12, find the common ratio.  

 

 

2. If the limiting sum of a geometric series, 3/4 is 16 find the first term.  

 

 

3. If 1+ x +x^2 +..... has a limiting sum of 5, find x. 

 

Solution 

1.  𝑆 = 𝑎1
1

1−𝑟
 →   12 = 8

1

1−𝑟
 →    1 − 𝑟 =

8

12
  →   𝑟 = 1 −

2

3
=

1

3
 . 

2.  𝑆 = 𝑎1
1

1−𝑟
 →   16 = 𝑎1

1

1−
3

4

 →   𝑎1 = 16 (1 −
3

4
) = 4. 

3.  𝑆 = 𝑎1
1

1−𝑟
 →   5 = 1 ∗

1

1−𝑥
 →   1 − 𝑥 =

1

5
 →   𝑥 = 1 −

1

5
=

4

5
. 
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